TABLAS DE MULTIPLICAR DEL 1-10

TABLADEL 1

1X1=1
1X2=2
1X3=3
1Xu=4
1X5=5
1X6=6
1X7=1
1X8=8
1X9=9
1X10=10

TABLA DEL 2
2X1=2
2X2=4
2X3=6
2XU=8
2X5=10
2X6=12
2X7=14
2X8=16
2X9=18
2X10=20
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TABLADEL 3 TABLADEL Y TABLADELS

3X1=3 ux1=y 5X1=5
3X2=6 ux2=8 5X2=10
3X3=9 ux3=12 5X3=15
3XU=12 uxu=16 5XU=20
3X5=15 uxX5=20 5X5=25
3X6=18 yxe=24 5X6=30
3IX7=21 4x7=28 5X7=35
3X8=24 4x8=32 5X8=U0
3X9=217 4Xx9=36 5X9=U5
3X10=30 4x10=4o 5X10=50
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TABLA DeL 6 TABLA DeL 7
6X1=6 X1=7
6X2=12 7X2=14
6X3=18 7X3=21
6Xu=24 TXU=28
6X5=30 7X5=35
6X6=36 TX6=42
6X7=U2 7X7=U9
6X8=U8 7X8=56
6X9=5U 7X9=63
6X10=60 7X10=70
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TABLADEL 8 TABLADEL 9 TABLADEL 10
8X1=8 9X1=9 10X1=10
8X2=16 9X2=18 10X2=20
8X3=24 9X3=27 10X3=30
8Xy=32 9XU=36 10XU=uo
8X5=U0 9X5=US 10X5=50
8X6=U8 9X6=54 10X6=60
8X7=56 9X7=63 10X7=70
8X8=6U 9X8=72 10X8=80
8X9=72 9X9=81 10X9=90
8X10=80 9X10=90 10X10=100
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